

الكسور



جمع وطرح الكسور المتشابهة

جد ناتج مايلي :

$$\frac{3}{7} + \frac{1}{7} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{7}{11} - \frac{4}{11} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{4}{9} - \frac{2}{9} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{2}{4} + \frac{1}{4} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{2}{3} + \frac{1}{3} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{6}{10} - \frac{2}{10} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{5}{8} - \frac{3}{8} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{3}{12} + \frac{5}{12} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{1}{6} + \frac{2}{6} = \frac{\boxed{}}{\boxed{}}$$

$$\frac{9}{13} - \frac{7}{13} = \frac{\boxed{}}{\boxed{}}$$

الكسور



جمع وطرح الكسور المتشابهة

الأجوبة

$$\frac{3}{7} + \frac{1}{7} = \frac{4}{7}$$

$$\frac{7}{11} - \frac{4}{11} = \frac{3}{11}$$

$$\frac{4}{9} - \frac{2}{9} = \frac{2}{9}$$

$$\frac{2}{4} + \frac{1}{4} = \frac{3}{4}$$

$$\frac{2}{3} + \frac{1}{3} = \frac{3}{3}$$

$$\frac{6}{10} - \frac{2}{10} = \frac{4}{10}$$

$$\frac{5}{8} - \frac{3}{8} = \frac{2}{8}$$

$$\frac{3}{12} + \frac{5}{12} = \frac{8}{12}$$

$$\frac{1}{6} + \frac{2}{6} = \frac{3}{6}$$

$$\frac{9}{13} - \frac{7}{13} = \frac{2}{13}$$